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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then

mark the correct choice on your answer sheet.

1-  The rising death toll is ---------- largely to the growing number of elderly people, who are
especially vulnerable to the flu.
1) attributed 2) converted 3) debilitated 4) transterred

2-  The couple were finally ---------- by the landlord after not paying their rent for six
months.
1) extended 2) elicited 3) evicted 4) evacuated

3- Wehave a ---e-nmea- clientele in our language program, with students from Asia, Europe
and South America.
1) complex 2) diverse 3) symmetrical 4) haphazard

4-  But the possibility of these adversaries acting like friends, despite their long-standing
---------- and mutual dislike, is on the horizon.

1) rivalry 2) advocacy 3) inclination 4) justification

5-  Debating that aliens exist cannot be deemed an ---------- truth as we have yet to see proof
of their existence.
1) unintelligible 2) insensitive 3) unforeseeable 4) incontrovertible

6- The girls wanted to set the table, but they were more of a ---------- than a help.
1) compliment 2) hindrance 3) thrill 4) pretension

7-  The government is to consult the attorney general on whether the enacting of such a law
would be in ---------- of the constitution.
1) provenance 2) rationalization 3) breach 4) caprice

8- Someone once joked that man blames most accidents on ---------- , but feels a more
personal responsibility when he makes a hole-in-one on the golf course.
1) legality 2) verdict 3) charge 4) fate

9-  The trial collapsed when it became clear that the main witness for the prosecution was
Nnot =======--- .
1) credible 2) singular 3) subjective 4) conjectural

10- The rising number of minority inmates in prison only goes to ---------- the stereotype that
members of minority groups are bad people.
1) overlook 2) downplay 3) belie 4) perpetuate
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PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer sheet.

Fuel cell electric vehicles emit only water vapor and warm air, (11) --—-----— no tailpipe
emissions. Similar to electricity, hydrogen is an energy carrier that can be produced from
various feedstocks. These feedstocks and production methods should be considered when
(12) ===-==-—-- ;

Argonne National Laboratory’s (ANL) report, Fuel Choices for Fuel Cell Vehicles: Well-
to-Wheels Energy and Emission Impacts, analyzed greenhouse gas (GHG) (13) ---------- 10 of
the most common hydrogen production and distribution pathways. ANL found that gaseous
hydrogen produces (14) ---------- GHGs than liquid hydrogen in most cases. ANL also
investigated hydrogen’s effects on petroleum use and found that using hydrogen as a fuel
(15) -------—-- petroleum use by nearly %100 regardless of fuel production pathway.

11- 1) produce 2) that produces 3) to produce 4) producing
12- 1) to evaluate hydrogen emissions 2) evaluating hydrogen emissions

3) for hydrogen emissions to evaluate 4) hydrogen emissions evaluated
13- 1) emissions for 2) it is emitted as 3) is emitted for 4) to be emitted
14- 1) less of 2) as little 3) fewer 4) fewer of
15- 1) reduction 2) reduced 3) that reduces 4) to reduce

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Teamwork allows employees to take greater responsibility for decision making and
also allows team members to control more of the work process. This can lead to
improved morale as employees gain more authority and ownership over the projects
they are working on. The extra responsibility can lead to a more rewarding work
environment and lower turnover. Working on a team also gives employees a greater
sense of belonging and of recognition, which helps them take more pride in their work,
and their company.

In workplaces where teamwork isn't consistent, establishing groups helps build
stronger relationships between employees and lets individuals learn to work through a
disagreement. Establishing teams, even when they aren't necessary, creates an
environment where workers continue to take pride in independent accomplishments
while also celebrating the contributions of coworkers. When a dispute arises, the team
must settle the issue and resolve conflicting ideas instead of a manager interceding.
This type of give and take often spills over into day-to-day operations and
communications.

Teamwork can help companies to be more flexible. By bringing employees from
different parts of a project together into one team, bottlenecks can sometimes be ironed
out more easily. For example, car manufacturers might sometimes use this method
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18-

19-

20-

when designing automobiles. Instead of each new car design going through separate
areas, such as design, engineering and parts supply, the car manufacturer will organize
one team that includes employees from all those areas to design each car. As problems
arise in one area, the entire team can deal with them and the work can proceed much
faster.

Teamwork, according to the passage, ---------- .

1) allows employees to take greater decisions

2) degrades the sense of ownership in employees
3) improves the confidence level of employees

4) makes employees gain more authority
Establishing groups in workplaces ---------- 2

1) allows individuals to work more independently
2) builds trust and enhances relationships

3) includes benefits just when they are necessary
4) leads to more disputes

The phrase “ironed out” in paragraph 3 means ---------- ;
1) appeared 2) ignored 3) ordered 4) resolved
The example cited in paragraph 3 ---------- ;

1) emphasizes car designing in automobile manufacturing process
2) highlights the variety among the members of a group

3) represents fostering creativity due to teamwork

4) shows the importance of flexibility for the organizations

As a disagreement occurs in a group, manager ---------- ,

1) has the least intervention role

2) should communicate with all members

3) helps workers solve their problems

4) must settle the issue

PASSAGE 2:

Thanks to the field of linguistics, we know much about the development of the 5,000
plus languages in existence today. We can describe their grammar and pronunciation
and see how their spoken and written forms have changed over time. For example, we
understand the origins of the Indo-European group of languages, which includes
Norwegian, Hindi and English, and can trace them back to tribes in eastern Europe in
about 3000 BC.

So, we have mapped out a great deal of the history of language, but there are still
areas we know little about. Experts are beginning to look to the field of evolutionary
biology to find out how the human species developed to be able to use language. So
far, there are far more questions and half theories than answers.

We know that human language 15 far more complex than that of even our nearest
and most intelligent relatives like chimpanzees. We can express complex thoughts,
convey subtle emotions and communicate about abstract concepts such as past and
future. And we do this following a set of structural rules, known as grammar. Do only
humans use an innate system of rules to govern the order of words? Perhaps not, as
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some research may suggest dolphins share this capability because they are able to
recognize when these rules are broken.

If we want to know where our capability for complex language came from, we need
to look at how our brains are different from other animals. This relates to more than
Just brain size; it is important what other things our brains can do and when and why
they evolved that way. And for this there are very few physical clues; artefacts left by
our ancestors don't tell us what speech they were capable of making. One thing we can
see in the remains of early humans, however, is the development of the mouth, throat
and tongue. By about 100,000 years ago, humans had evolved the ability to create
complex sounds. Before that, evolutionary biologists can only guess whether or not
early humans communicated using more basic sounds.

You can find out from the passage that linguistics ---------- :

1) studies the evolution of human language

2) represents that the origin of language 1s from Europe

3)is a field checking the grammar of your language

4) helps us to know the developmental stages of human being

The phrase “mapped out” in paragraph 2 can be best defined as ---------- ;
1) drew a map 2) outlined the details of

3) stored properly 4) separated types of

It is stated in the passage that chimpanzees ---------- .

1) use a language looking more complex than humans’ language

2) have the capability of recognition when the order of words is broken
3) can convey subtle emotions and the concepts about past and future
4) are man's closest and most intelligent relative

Brain size, based on the information given in the passage, ---------- A

1) shows the relationship between language and biology

2) specifies the capability for complex language

3) 1s not the only factor in determining language capability

4) doesn't have any impacts on ability to create language

Scientists think that ---------- ,

1) early humans communicated just by making artefacts

2) our ancestors of more than thousand centuries ago could only use basic sounds
3) the remains of early humans are the only source clarifying their language
4) there is no connection between language and human development

PASSAGE 3:

For most people, the easiest way to get moving 1s to make activity part of everyday
life, like walking for health or cycling instead of using the car to get around. However,
the more you do, the better, and taking part in activities such as sports and exercise
will make you even healthier.

For any type of activity to benefit your health, you need to be moving quick enough
to raise your heart rate, breathe faster and feel warmer. This level of effort is called
moderate intensity activity. If you're working at a moderate intensity you should still
be able to talk but you won't be able to sing the words to a song.
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An activity where you have to work even harder is called vigorous intensity
activity. There is substantial evidence that vigorous activity can bring health benefits
over and above that of moderate activity. You can tell when it's vigorous activity
because you're breathing hard and fast, and your heart rate has gone up quite a bit. If
you're working at this level, you won't be able to say more than a few words without
pausing for a breath.

People are less active nowadays, partly because technology has made our lives
easier. We drive cars or take public transport. Machines wash our clothes. We
entertain ourselves in front of a TV or computer screen. Fewer people are doing
manual work, and most of us have jobs that involve little physical effort. Work,
household chores, shopping and other necessary activities are far less demanding than
for previous generations.

We move around less and burn off less energy than people used to. Research
suggests that many adults spend more than 7 hours a day sitting down, at work, on
transport or in their leisure time. People aged over 65 spend 10 hours or more each day
sitting or lying down, making them the most sedentary age group.

Inactivity is described by the Department of Health and Social Care as a "silent
killer". Evidence is emerging that sedentary behaviors are bad for your health. Not
only should you try to raise your activity levels, but you should also reduce the amount
of time you and your family spend sitting down.

A moderate-intensity activity makes someone all of the following EXCEPT ---------- ;
1) say just a few words 2) irregular heartbeats

3) breath quicker 4) feel warmer

It's referred in the passage that ---------- i

1) vigorous intensity activities should be better replaced with moderate ones
2) singing a song contributes you to move quick enough

3) modernity leads to inactivity and an immobile lifestyle

4) technology makes our life easier and healthier

The word “vigorous” in paragraph 3 can be substituted by ---------- .

1) aerobic 2) dynamic 3) outdoor 4) physical
The most sedentary groups, according to the passage, are ---------- ‘

1) retired and elderly people 2) people sitting down at work

3) workers with more leisure time 4) adults involved in not manual jobs
Previous generation, according to the passage, ---------- .

1) didn't know anything about silent killers
2) had more demanding personalities

3) preferred physical activities to digital ones
4) used to burn off most energy



O ol (il )5 (990 3T (wnadti Colw g Sy

Y axino 529K (Y45 uS) J s g daile yd  cwidigeo

(Y] 3 ol (131l ) olasdly

flamwl plas” lim t wF n g ot v el M
n—eo| (n+1) (m+Y) (Yn)
A
Y
Y (¥
Yo
oo (¥
St plas Tim SOSFX)=COSOX) () gy
X—po x'
Y QO
4oo (Y
AKY
sho (F
ROU W PO SIS Ot S abaii 53 (L,Y) &b o Y ==X + X' +X &b jlogei g oloo s —FF
(e,
(_‘lsc) (T‘
Yooll
Sl play Vi—cosYx dx feol> -Y¥
Yoo ()
foo 41
Yoorv (v
'fr;-o\/; ('f
(ol plAS T=F o3 o, g F=F+FC0SO o3 y9;0 anli colue -YD
WANY Q)
YANY +FTT (Y
I (v
WANY — T (F



A aio 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

a'+b" +c" Hlode Wil Sg0e o ){Y+)f"+z‘r =1, (x—a)T+(y—b)Y+(z—c)Y =1 o5 g0 JF1 -YF
¢l plas
Y ()
Y (Y
Ty
f(f

Vv \/‘_xr_yr dzdydx
Sl plas I I j Jols YV
5 Wb g \/‘_xr sl

—
——

=

<3 sl ||
= =

o i
Pl plas X' 4+ =7 sl b 2 =;(x" — ) gy ) esh oy i Coolnn VA

VY
—T ()
AR
14
—7 Y
VY
Vo
—T (¥
'f
T
— (f
»
a3 lailiw! Jloyi 1398 sl 559 31 Suplas -T4
TS o0 oo Jlo b o )9 oo &y digod (S309 IS cignd poxe (1381 b (635 30 d> Al o T
oold 'y 28 )5 (Y Oeilee (Y
IR QJ)&QS (f )L:_v.a x_5!1)_>-_i| ¥
fowil o398 az lyld (adeine Sloj il U Ho  Suddly Oldolas oluas -F)
Jley (¥ bei (
slalazgo (F Ogesley (7



% anio 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

Cal jadz K jlode woudo polio g3, F(X) =ke ™™ J&> b jo —FY
=34
AR
Y
Yy

Y (f
e Sl Byl g Sl ST pho Coll Hlado b asoler Joaime il dmslio sy 258 0905l S5 0 —FY
flam! IS 03T o kel ailb S=F s X =Y ply N =1 digel
Z=\b (\
£=)0 (¥
Z=Y (¥
t=v (¢
oy p8 & Blize gl alslie O Jlos! 5l o 5 b oudiq puSo il slaodld anlio 51y (i90)] plas —FF
F ! cawln ooty o
ARG F v Jie T (Y L
Juosl Yoo yuilad b s oy 00 gdT Jlosod olST ciil 070 ¥ Jl5dlus &y as | 12 (y00s 00od] Lo (51 —F0

Yl yods

O;GY (f

H(19) S 3 oiilays

Tl Canyd o bl jslibwts 5 80, Jos (pgas 30 390 plas —FF

230 5 o0y (oallaifed lomlon G 0S5 S, lonlsp &5 250 Jolo pliebol ST (Y) (Folol (loj 5o ()
A dalys 3ls SOC ouile b bags 1 plagsl jaims g pdlel golsiie alolidl wocl gl5 0 74b

03905 (gals cad ;0 1) 995 (50U Sl 5 009 (5355t 005,50y (slamglen ST (T) (Solel ol yo (¥
s anls jalo ol 05y jemms 5 pdel polivie | oadis 5o slasalen il

ooy calas (g 1,0 (i sl ygins plavil jl ontig,aKa) slomlyn 51 (Y 5 V) (Fola plej o (¥
abgipe SOC b 188, (slanlsn 0uisS J 1S CRC bls,l sk &s,50 50 s (SOC) slibaie wlilas 55 5
Sylsi gl pligl 55s o ool pulicie ), skt By lanle Bl ORO ailegs

() g pila) (lliind lonlen S [telas o, Sa, lanlss ST (Vs)) (Folel olej o (F
Silen T w86 g ol [l iz 1985 (alad gyel8 o)y gues jebody b (52l olxtl il )5 o 0l (g Jor
5 pOlel polin 1398 ) giwd jl (o o Djpe )0 A WD (o8 Gl Hghwd (S5 4 258, (5,88 (LS il
b aalgs 3le SOC suile b Lawgs ol plags! jgiws



Vo axiio 529K (Y45 uS) J s g daile yd  cwidigeo

F ! 30U i ST 02 (o guad ;0 Wl plas -FY
grold 5d g0l (iter xS Jleil &5 aleysiS )50 50 el Sl s (V) (Solel condg yo ()
N NPT P
5ol 0 gad (i 5550 il 45 18 )5dS 9550 )0 el ST wa (7) Solel cndy yo (F
GV L PV, S W1
@ st ed e S 68,0 Jlisl aS ol yedS 5j0e 0 geenal ST A () u_ﬁL;,’I Condg 4o (¥
a1 55a8” bl o Jile Yo 2L
2 b 0sdice i 6550 Jlirl A5 ole iS5 j5e 0 meeal Sul ae () (ool Cundy o (F
el Al 988 LA gl 31 e Yo AL
sl J 55 g oilo 8 glo oo 932 0,90 plas —FA
S - S b (F OggY = Pggl (F Slilee - ot (¥ ka0
b 5095 1y o olaiend w0 3o o9 319 09 RS 11z 5158 0 b (5500 slad (595 45 (plawslep guiainb —F4
13,10 pb 4z 00,5 (5550 (Sl 9 9505 (Ll 5o
UNKNOWN (v BOGEY ¢
X-RAY (f ZOMBIE v
SRR U [V MRS, [ WRT IO U 0 O S [ OIS (U5 O[O 5. S
SIF/IFF‘ soolXiws ;j ooliwl (A
&5lam oledbsl 55 s sl onizdl o (6515, Sledlbl fals godat (Y
SIF/IFF laolaws 3l ool =yl b as0l, obos (5,158, (¥
SIF/TFF (slaciSzs ;1 salisal - (g3lgs Sledlol 55 10 5l sntzilys g3lap SleSbl oals oo (F
el J 505 5 (pubilod ailolus S la T iy 5l Soplas 30l 1) potde —0)
sliy g 00500 Cooglin (posdd SMea Jolio ;0 U allilb allilo 1) il opl Sl J 2508 9 o2ailo 8 dilolur SO
€aled Bda 1) 095 Jllos ol g
(Survivability) . ,laub ool (¥ (Affordability) cellaul (A
(Superiority) st 5, (F (Flexibility) (¢ 38l (¥
2l 4 byl &5 el bl 9 Sos8 glowlie ;o b 505 5 2ailo sl S 5l Suplas —OY
1010 )5 aiamd (ST Mol 0y 300 gaxs sLoca sg0lo (51y21 41 jgammo @lge 51 losly

S reiert sl2lg 5 peta J 2S5 5 (pala B (Y S reie shls 35 peie 1S5 oanile b ()

AN U SERIP T-, J JCOC EUE JOR = P
] plas o i dimee 3o ([0S 9 Bl b slaailoln slagiinaws p ) 3 ISYSCON i didog  —BY

olalea Sledllsl oo e (Y aabs al5” Lo oo e ()

S g5 (Slaidy pha S poa (F SSU Slnlee glaptas Zg poe (F

Tl 3505190 plas Joll aidlay J,08 g il 8 siwbgd diloln Jlow 3 Olpad  -0F
TROPO Scatter . MDIP . ECCM . ESM . ECM (\
TROPO Scatter . MDIP . Airbase . ESM . SAM (v
IMAGE Transmission . MDIP . Airbase . ESM . SAM v
IMAGE Transmission . MDIP . Airbase . ESM . ECCM (f



1) azio 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

Flawl 33 95lg0 plas ol C4ISR Gl rolFwsn oo s li

olFous o (6 mee GGl o Slae b)) GGl ioslas  Sialen MU (5 0dy Jolas ()

Lfbo@d.lb o 6).:—0..& L‘_\Li.cl t‘:féq)ﬂ g ‘5}1)6 L}..?unu olS.ﬂ] ctT}BJ.]a.n J.@)LS.‘!‘ &\.JL! 6)JAJ‘J.AL‘LI (Y
olfaus o (g rmee Gl e cion il 5 ol )15 o (Sl ioslhas  Siales YU (5 pdydlasl (¥
olSuus fro (g el o cidn il g SIS o 1Sl iogllas  Soslan YU (5,535 Jolas (F

Tl oo lus s (5)lone (oo cigduin Jauz £33 41 9 2250 o J 55 9 (piloyd (g lore Lozl plas
C*ISR (v TEAF (\
Zachman (f DODAF (v

auled oo (sl 1) 0 dlaio J 5 9 (o2 0ileyd ailolw )3 Waailly il 390 plas

Slles 130 2al5 (e 285 tulidl 5 pate oo (5305 os )l Canbge 1 e BT 5 Sl 65, ()
o3l plgm

los Slles 13U (2l (OMes s Gl S e Jee ooliT e iy (T 5 SOl (550 (Y
il g gazd]

A6 Gl dles <8y bl oS atend Jee bl w)lr cosdse | e (U1 5 LMl g5 (Y
bl g suidl plse Sllas

26 Gl odles s Gl S setend Jos ol es)le Conise I ian BB 5 SOl 55 (F
iy (olee Slles

el 5SS dy Lol b o i gsolS’ JLil 58 4 (5ol sd €yl 390 ploS

5 5 (S0 )8 b sl slo )l ()

S)F (S0 595 bt sl slobiw (F

=5 5 46,5 «slo pld (ol (sl glo )l (T

b e e (59,5 o Soil> ol wgloyliw (F

£3,13 o 4z 150 5T (52188 (5950 CUISR pienus yo Solelos diznus s J a8 3 odilo b cilolas
JTIDS (v AFFOR @
TACS (f TAGS (¥

lgp sl 28lG pas g S LT o5 jleSinlod (amani (gliulyglsl culad (5 5z sl B e 330 pluS
] 5 o (598 S (Nlo 3 Slanl 4 i joliony 2LaS 5

35 yeie S (Y 55 e otile b ()

S ke S g oaailey (F az Lo opuileys g S (V

-o0

o

-ov

-OA

-4

_$



O ol (il )5 (990 3T (wnadti Colw g Sy

WY asmiis 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

Ky S i

g0 )b ) e )ld..ﬁ.n g "3‘“"1.5” solal d}b}‘ £y A.J.:)J UL, SV JS..A L-,—*-‘-’B)"S'“ ‘_]'}Lal ..S....S.‘i rnLi -7

bl ol 50 wir ot 8 (i

e Femiis glaaills (uils )8 ade p g dsgly o Plsl g1 - (CROSSEYE) ablice zlsel L Plst (A
s s ol B sopony mus s BBV sl v o) Wlsnn 08 ied il g 0wy,
Al oo B S ax 000 gljls g sudlas

sloul g 09y 00 ;00 Sy slaaslel Sl5,8 ade s g sl o Pl gl o adolise 4y DL L DS (F
shlo 5 sadloz oo L alold b ogaed ace g0 ( P cnl ;0 - conl olion w5 5,0 Catd s
il oo 5B MW ax VA ©

Sud S obml bg 0500 Ja Db slaailels (uilS B ade g agly 3 PLST (6ln - S mne PLSI(Y
az 000 gy 5 sadlan po I L alols b jusien né e g0 (DS pl o - Cil dlan LS8 o
araly o 5l s

oleul b Gbo,y sladilele (il )8 ade g asgly jo P sl - (CROSS EYE) abolice zlgol b DL (F
YA shls g oudlas a L alol b oo ae 90 ( DL cnl jo - sl olpers l5 8 10 s oS
T PR L)1 TSRS

€331 (8 ol 535 30 uilS )3 Z50 Job L (i 4z Ygomo iy SLII Job  —5Y

o/¥0 (A

o/ (¥

o /¥O (v

Y (f



WY i 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

Se sy y LS g 588 pis i 2L g 4z o iay (LPI) o5 5050, Jlisl b o)),

Fasss oo solaiuwl

YL obw]‘_‘éﬁ S8 b og u..j So )'| aolawl — T‘,_|a.‘_,<; slwas j1 (S)ﬁf")'t"?. L o )L.......: o..\.:.‘;..\...»)é S )1 solaiw! (3
glyel Sl Gloj 5 (o5 J S jskaredy ol (228l 33 5 (Jlo) S )08 o ol ol Lacil 2alS )

olall o8 kB s 035 oy ppnkie 51 ool — okaiall GlouS 51 (6 oS00 b 8 sl 0dias 3 ppuiiar ] o0l (Y
R ECT T (0 W WO W O . W O RET T

Sl b 3T LJ'*"‘ S J‘,' solaiul ry,h...ob ass j| ‘_g).:fo).gg_ L RS JLW oAl 58 S j' oolaiul (¥
Sl g oo JiS jelaieay loly bawey (Jluyl ©yu8 wdas o ol leel Lacs! gals o YL eolallged
zlaal Ll

Slasl mals o Vb oolall ggd collB b oy o6l SO 5l eoliinl - e jlaws osiiiw b cpais 5l esliwl (F

PRGN ORI J [0 S OO 1 -S| FLWR (LN, [

B

Caml 3 S5 S5l (Noise jammer) ¢ pe SN oo g, )l Syplas -FF

i 'iFF#!!lgilsiff.liii-!llliil;a-r;f!;ii|§;1'-'||;;ii1%;=1j[u_ UL T (. THITR
RADAR A RADAR B RADAR C DARD
Barrage (f Spot (v Sweep (¥ Wide Band ¢\
Tl Sg il g3 glasag; 51 gy plas Kl 0 S5
hys 78 Auxiliary antenna SLC ¢
Direction of (o mpjdirectional) Main antenna
target

— SLB v
Jammer Strobe (v

Null Steering (¥

Direction of
jammer

YodB I

|

il (gl b (o920l dibols S (59 2 Loy 3l IO sloml Cuger p3Y (glo yolyly Sl 8590 plos

o S5 lej - il (8ye - (PRE) Gl 1,85 il 32 (PW) Ly (sligg - 4ol Sllae ul5 3 00guzme ()
son@le Blod | ailobs clbiler Coxdg - g ly S (PRT)

(PRT) 1S5 ooy — il (29 - (PRE) by S5 iS55 - (PW) Gy ligg - o980 i s (¥
ssinile Lo ) ailelo cbliz Cnrg - Lawgio clss iSTa -

- (PRT) ol JLS5 loj - aily glige - (PRF) (ol LS5 uilS)8 - (PW) (ully gl - JiSw @y M (¥
ugle Bl jlalels cblis Condg - 25 Oly ST

- (PRT) oy 1S5 ooy = wily (ye = (PRE) 1S5 (ils 6 - (PW) Gl (sligg - (ygmi¥goe 95 (F
ks ale Bl 5 Wiilen SRl Epmbyie S8 i 55T

A 4

-5

5%



S 3 il 315 90 3T (s Sl &g S yamd

V¥ aio 529K (Y45 uS) J s g daile yd  cwidigeo

ey ol Ol iy & labdi pgi ST b ablie Cuar gilol; (Sig sl cblis glaseiss -7V
Fuddnad 0,190 oIS cslod o 1) (Flusca jlo
SIS slogiyy (3l - LS lagi B Cajll e 58 () = S Shin IS - S B 2o s ()
GLS slagin il e - @)L legin B — Cusll e 0 2l - 8 5 - eS8 e et (F
Sl (st IS Slogipg i il e 53 23y - el 1S5 el B 55 - eSS (F

LS slag
S5l stm S (Slogig B - ailly e )3 ey Tl S elS B 55— el SIS lS B e e (F
S5 slogi
¢ 94 o0 olaiw! Lailolu 31 SGplus” aule (Terrain Bounce Jamming) o) zebaw 31 ob 30 oSG —FA
oy S g clalsl, (Y @1—“};5‘3)61-“)'51) Q
&bl ¥ g (slls (sloSiige (F s2lsp S st sl ol (F

€018 K oolge 4z a5 leMbl (5 )9l poar Coli S 40 Sy g Slosis Sloladl Suwamy 3 L -#4
JESe s5lolaz (g, - 005 5 o3 lais 00 (slooasin B b JLSew slasi = flgy S W5 5 el ()
JES s Py - 08 i it oz il JoSo ol . iy S0 S il OF
S il i - oty i s g glaoaiiad b JEm slans - iy o il e (F
e sl iy oo Moggmpclmmsssai i Sl o« iy o S 8L P
Sl slisl Jyol plaS ol (STEALTH) 5 ey cp5té =Y+
JBal — aiao oo joae 055 5l o0l Zlael a5 alel b L Blad slge - (RAM) g )lol; ilS )8 L3l olge (A
dasine (hals - (gladsS slooaiS wSaie Jl 5l Olizl jshited; anl ad (golge - sy Jila> b cosin
5 Mz SLISE y lage Lo gt ol — Loy i GVl 53 s b 351 il 5 a5 ol
Loslen aivy J=lo
SIS = 323 e y3ee 395 31 |y oapedly gloal 45 aaleilyd by Bl lge = Lgamsdl, g gloly Lol (g)slid (¥
slooasiS puSare Sl 5l Glizel jglateds anl ans (golse = aisS o olbml |, sy JHlas a5 cwnin
Jlail 092 sl - Lanlon 0y YL )3 e b bajo ST (uildgy g 508 (gole daiine GiblS —slatiss
lowlan aiay J=lo jo bl Slaludl 5 Slags
- e e e 093 Gl 1 geedly Zlael a5 aleild L Blad olge 1 oeslaiul o gyloly Sl g0ld (Y
Gl — gladsT seonisS uSane Sl Gl jslaieay anl ad golge - i3y JBlos b cwsin JISS
Slalidl g Dlage Jlasl (509 cowlin - Lalsn aisy Vb ;0 caai b bojg3ST uillisy 5 50,8 (gole aasuin
Lolen ainy 2 o Lla
s3lgo - it JBlas by oiin IS8T 1 solitul - 28555 slapls - (RAM) (gl LuilS 5 ol slge (F
L lojg381 il 5 308 (gole dasude (1ol - (gladsS (slooassS mSaie il 5l Gl jslateds anl ard
Lowlon adas 2o o blata Slaladl g Slage Jlasl 05 el - Lanlen aion YL o oa
foawl plas B oz 50 910 fawml i M jloslinl cde -V
)18 (SLSG 3 Shas (g9 nlo 5 ot slaggamln D ade ()
2yl plaen e glaygnln Db L ablis jo (g2 3 Sos (¥
Dyl 1y ey o ben (s slaygnlin Db ade (¥
SR 5 ol Mipeenillis uer i



O ol (il )5 (990 3T (wnadti Colw g Sy

10 dzmius 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

Cel plas (EP) Kig il cbslis (bgy oo p5 ge  —YY
Dike - Fix jl salazal (Y CFAR ;| salazal (A
LPT 5L 51 (5,50 ,0s (F SLB ; SLC .55 (v
g 00gs hide JUSKw I 2 el )b 4z woluagd olwlis e (RWR) 551805 snins o sloosi uf jo VY
Figd g0 5 o310
JESs 3555 2515 5 Ggamsli )M caiels (W58 b sy g (O
JES 3955 sl 5 gmlie Dy caials il 2 ully (sligs 395 (Lo (¥
JES 3555 45l 5 ol )Ny saald (udlS B JUSon il (gl coniin B b (Y
JUSs 99,5 42gl; 9 Gigmmalin D 8L 50 o5 ¢ il 2 (ol (Gligy g 4 JLuSow S (F
fagu ol b Aol az Lo,y Hlol; SO o (break lock) obs, a8 punslls ol -VF
oy 51 51 2555 stedgy el S Sl s b el oala B Lot 0550 1, Ban slemlse wOla, 1, LTOY
- gl 5 alolh Coabne 25 i g e el als o s 5 ey 5T sl ) (spee
Bt 58 T i SR e el st 5 sl 3 B sl i IS 0 o 3L
G55 5 sty ool Sy Jlosf e by e ool ol 5,50 1, i (slonglsn o Ssminr ol LT (Y
2 QBIS lly 45 e - Elis)] () ek Sz by ol Akals o 53T ol - o), (sgms o),
Seien 1,55 Toamme 008 53 Jolpe b Ghgals s, ents 490 Lagylsa 51 35 o3l
s 5l etigy ey S bl i b el 00l Slulids 0550 ) Gos slaslan (Dls, o, LT (Y
308 ol 45 e - Alold Cupabge oy oS g (siidiny ol (oo el olol - o, (s
Sgign 5185 I3some 00853 oo b Gagals Glujall w599 Loylaa 51 IS o5l
3505 o oy S Jll e by ool 0913153 SLalid 3,90 1, B (slonylsh Sy o], L (F
o3l 4y L3S ully 45" Slej pLls CuF s e Cap dilhe o sl olonl o ls), (gaasdy Il (55T
Ssien 1555 Toame 008,58 oo by Bgals flusycu sl cnd y0 Lowlss 51 IS
G SIS alold g YodBi il o g 5 iy Yoo bl SIMST Iyl Glgi o] 50 a5 yufls Jl5 jo |y SuxBge -YO
opte 9 g Vo lb plp Jlubke eddcn pd Canw 1 )l JUSow &j08 51wl joglS do b ply odi S
! piogleS’ vz i g 8y slio bl asdile S YABI pl s 10y sy T g YABI T (il
F,0 (Y A\FAANGQ
o (F YY,YA (¥

H(F9)) 5 S oo ko

¥ | Jsj o .JJLa.o )I.J..n 3 el a)._gé.s ‘Sjj.il -Y#

AN F QO

QO
+ . Y (Y
1A% '_) 170) V ==¥¢F {i (
- vH Y;a (‘”

VE (f




u&&)‘u;wtﬂz)tf‘3’n}i'u?aNN*3thLﬂhgsfﬁhus}ﬁun

VF donive 529E (\ray .8) J}-J 5 Gb..bl.u)é L alye0

- i . -
rg,.ﬁb!..\qR u:.‘.ngu.o .-L:\SGB Lf” gues i C.Js\" ojL\.i‘d.g VL jL‘Jj ;).;w| F ajld.i‘d.g I ‘f'| Mbsﬂ) )L\.o o -y

[

—
-

=

-
i
L
-
=

MY,
=

w
~
=

Yo(F
ddli o wiar £>0 (gl Jloj Cull Hlade 09l oo diuy T=0 10 4391 3b o jl (g alS 25yl o
¢!

o7\ ()

Yo Q)
A LYY (Y
! o L2
YV t=0 " IramH =r.0Q VIAY ¥
[ £/5A (F

Sl aig 35 plus Iy, lado () oo o

I'I__a'j\'Q‘ ) do (N
YO—Y8] (¥

do—doj (v
—Bo+po] (f

® Y@ T —-jre
Yoo Lo" V

i
(il) el sl By by 4 by Ol Comad 5 )l o

X
o F ()
YA ;Y pe

-9

FQ Cl)
3 FOQ Tj,rf) x
o (F
o0, b

qM@J)MQ"—?U‘SMM' ‘o mgL&n ‘J-j_j)luho)d
VAY O
WA Y
T
V‘;"f (f

i;uMS)ﬁwuiGigtu!gﬁs‘rﬁGN&)"gpﬂtﬂz)ts'CJ“:U“?‘E;)tﬁ$“3e)ﬁ;T

-YA

-v4

_Ao

-M



W azis 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

?W‘ ﬂ.oi u\d..z' iK Jld.b.o s)-lj )10\-0 )O —AY

. ‘ﬂi Y (\
i, 4Q X
A Y
doV fo Q2 20 Q) Yoo Q) Y (f

ﬂ‘&w‘@‘.\.&g Req J|ﬂnaﬁj G‘.i.os‘.ﬁ.ndﬁ.:d&u;bg -AY

YQ rQ \§9) rQ YA ()
VY (Y
ﬁﬁfﬁﬁ 4y
Yf;fb (f

Vout
§ ! ,al..\f e yloe ,.51).! H(S)= Joowd 2l —AYF
in
1kG Yo uF
A | k1
+ \;i II.-'Tr.\o YonF
VY @ fokQ E“ <*> == 0kQ Vo
H(s) = (¥ H(s) = O
(Y+s/8)(3+8/10000) (V+s/¥)(V+8/Ycoo0)
-8 \

)= , — (Y
O +s/8)(\+8/V0000)

H(s) = ¢
(\+SJ"’\U)(\+S}{YGGQQ)

Vs(t)=fOCOS(T'ooot—QOD) | ln‘..t.f HTGLA > 3 i(t) (L Gttt )lf..\.il.n UL’J’ ey lae 0 —AD
v a i [»]

i )0kQ KO V#cos(Yooot—1YY®) (

—— AW\ A Yocos(¥ooot—500) (¥

\;Sin(\”ﬂcj :3t_\YYO) (YJ
Vs(t) (") ‘ '
5()() g vH YOS'”(TOGOI_QOO) 8

]
|
|

=)

¥ pl..\f HS).Q )L_v L'JIS'.’I B g ) JL‘Ln BT —Af

—{ e |—— P gl

[ris0 Y gl

$oso” Vrms @ of Glazs (¥
C}{Y $)LQ.~4.AJ (f




O ol (il )5 (990 3T (wnadti Colw g Sy

YA amios 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

- foanl Jo5 (oo sz 055 Hloo 50 o0l 0 53 (555l

" N " ras (

YAA (Y
; YAV (Y
fomH
K:af.f

L 4
1-

YemH

Y Y.

FF (f

Focwl plas t>o sl Vc(t) ey lae e
—t

\o'_]_F vo k() i ™ ofF
% AAN— ¥ro—¥roe QO
r i

+ Vo) —

Lo vyo—vroe " (v

Yo kO (,],) _t

T"ou(t}v —YYo4YYo ec-;l-.':FF (Y‘

—1
—YVo+yvoe T (f

8,05 o0 o] 31 by yael aia olST (pusS ol g JLail (3 AB asli 451, 3 slae yo
T‘;A ()

LAY
1 Q) §T‘Q 6 Q2 (

Ve
Ty
rQ FQ Y

WwQ© B O Yo

(f

Sl Cdg diz VC(°+) Wowir oo Jowd (53190 RLC jlowe oG as t=0 10 wols yuils ddiwn 51 (gt c 323 )0

‘”;Y{ﬁ (\
\YmH ”
YKQ (5%0) P18 ¥
A ¥
YN (F
v () t=o A’ to k(2 § == YpF

-AY

—AA

AR

9.



O ol (il )5 (990 3T (wnadti Colw g Sy

1 amiis 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

H el plie

JUSis il &) s yo b (5l 10900 51 Saplal il subesld 35 &ygn [MIF)] ply JUSiw g 51 )
Sl B 5lo AM-DSB sudioadgue

M (1)l
> f
/\ oL ¥ /T\ /T\ »f (\
E ~fe fe
/T\ . /\ /\ o 0
fe ~f. fe
Togus o0 plonil (5 )9k dz ay UL (510505 1 uloo poiwmne SO 50 -AY
Sl Sledlb!  Kils e ialsél (¥ (o] Sl el | 2alzél (8
JUl" ead b aalil (f Sl Sledll gllas prmmas g S (F
Yowl gai plus 51 pld ol Cawl saliooly o3 & ygoas gpild bod ol -AY
H(jo) = IoT
And o il 1y YK 45,38 Lea (¥ eali 5B L L3S b ()

J.G:.Jtso J..I!jé‘ |) 6‘03)3 Jl—ni—hh‘ )L'ﬂ 45 )..\g.;dl...a ($ J.QJGo u....mlf |) 633)3 JL&._.J )'B 45 JE]&!LQ.: (TJ
TT.
y(t) =Vocos(Yx ¥ X o t—;) JUSiw il 0als Jluw 3l cusiiow 8 S 31 X(t) = Yo cos(YRX Y X o’ t) Juss -af

Tilamw! oo i 0w 38 g 0 i i ol JBlus ] ol Sl o o j0
ARG
Yo ¥ (¥
A7 (Y
Yoy (f
JUSw S ol cewl oad odgi X() = (Yo +Ysin(Yoomt)) cos(YRt Yo' t)akaly, b AM JUKew 40
Tl iy Wiz subadguo
oy ()
for (Y
FY8 (Y
YA (F



S 3 il 315 90 3T (s Sl &g S yamd

Yo domiio 529E (\ray .8) J}-J 5 Gb..bl.u)é L alye0

of E889 il 45 iS5 sl sobalguie Yoo o KHZ Juol> oS bawsi YKHZ o AooHz.VooHz glgsl
Cowl KHZ wom ool pind 29,5 50

YooY (A

Yooo (Y

99,Y (¥

3A (F

ow il el oud SiS 0B g o ¥ emwYaie (Ll L AM culalgin zae 99 cuS 5 3l JUKaw
fowl jadiz ol zgo (gl goe

o Y0 (\

o OA (Y

oY (¥

o) (f

laml Jols lad dusyo s 5,08 Wil y& lad (0 o adold yamwt gan o

1EXY O

Lo (¥

/8 Y0 (¢

e (F

-0 2l i o pomalsde (A LE qead y9u8 Sl Sy 1) (psiiden (s gde (a3lh LM JUS e S5 51
Yogi

A\

\
C‘
\
‘u

v (Y

S i s (F

F ool w0 090 pluS

ol 03 o B 0 jeVsae Kby K Jlo)l sl FDM g, 2 g )0 ()

el 3 oiiinyd 5 p9i¥gae K el K Jlul sl TDM (g 4y g 5o (F

el 23Y 08,8 50 19500 KO plu K Lol (1o FDM g, 40 g jo (¥

gl eolital jei¥aae k b G el SKos 90 0,3 TDMg FDM g, 4y gugend o (F
Sl ylagei plus’ X(t) =sin O JUSww 3l b

! \
o, [ 1
> - ey O (Y " - ey @ (
_(1)0 o m, © @,
-3
\
e y Y
+ I & - — @ (f i I = I » o (¥
o, © l @, © O,
_%n

-4

-ay

44

-44

_\00



Y\ amiis 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

ol 3 sy i 31 S plus dusas L X(1) JUSoww cnisls COSOLL ol JUSKuws o M(L) ply JUKuws 51 VoY
x(t) =m(t)cos .t
SSB dials gV gas (¥ VSB aials g san ()
DSB-SC &ls ysawYgon (F AM &als ygamwVgan (7
§ el s 33 3 330 AR5 canel oiodld Lk JSb 30 olw jelods oy 31 (iadsy a5 (33109 yind 3 gaw 00k guF y8 VoY

Mixer
r(t) —eeeesl RF il - IF jLé f> it}

(slee jloylugs
Sads oo ooliid MIXET f s ailflis (635 0 uilS 3 b 38 lo il w5l g ongs Culf  oma s ylsgi | uilS 3 ()
g so o3l MAXET 5l ams ailflas (o35 10 uilS /3L ,38 e L8 win 5l g o0 el ora jlasjlsgs puilS 5 (Y
S5 3 MR 5 g g B Bl AR, 1y Bl e Sl AT
g a ool MIXET 3l amy <ol (635 po iS5 18 b 38 len 2k S5 5l g 009l Joma o ylhogs puilS 8 (F
Sl g5 4z 3 il o ol () o pp00s g1 yiled Sy (gl 5 Grsly 1o
Vo
H(m)=7‘,
Yoo+
2ok (F 2ok (V 2ol (¥ SO
(.C....w‘ IaL‘._.; JLL.» m(t)) ¥l Libd.i._t')‘f)é adud o)l...‘bl ‘SLQIQM 31 l.f.;_p‘..\.f s bg.g).n «y) ‘ol)fL_v_.b le.i . PA
AM IS o5¥ouss | je5¥gne ()

™ . I__ ’? 3 ael A9 [-x i) b ,lze AM | g3¥ 5005 (¥
3B J8 sl DSB-SC [ $Ygoee (¥

G le AM [ 5i¥gue (F

e Mb/ il 3 slail ]y slodSuis

Sl plaS” YOO, YA, YAD,YYF subnet Swbo g YoV, )F, YA, 58 JP w0l olpsubnet ool 1.5

Yo, F, YALYY (V Yol , AF, VA, #F (O
POV YR VALY IF Yol , 0 F, VA, O (¥
Fa,10 aold W 5 38 s i el o i blie ISCL )Y

¢ | e £ oA Q)

I B U As V8 (Y

SUPS YA
e | 8

\. > / YBA(Y’
G, L



YY amio 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

] 4l Caucol yo Honeypot i (Sls o )0 plas’

IELYPPRPSIL ON XL SE RSV JRLL) DA PL SPC IO |

8 il oSNl B Al B A U i (T

Syl Bellao b BT il e palo Sk A5 i T
Ao slol | Sledlbl (6 5laen g a5l 45 yols oS Joe a5 oo (F

Flowl Wiledb| Caudwl Lol 5 3o ans (Silo g0 plos
Sl fog wymws ;0 Ko LSG ¢ Kilo yoma (Y Sledsl o (wyiwd 5o ¢pglss o Sole e ()
DMl g s )3 (S LS e (F DMl aligy (S, (Sl e (F

flanl o ygo plas w TCP/IP Juo jo JLsl asY aaby

UDP JLasl b g sboze! Jil8 g TCP JLail )30 5 slexel LB ,e ()

TCP Jlast b g olazel LG s UDP Jlail ;a0 g slozel LB, (Y

TCP Jlail ;a0 ¢ slazel LB, (¥

UDP Jlaslb g sbezel LG (F

3 Al a5 il iy 3 elad o0tial JUiSis et FF 51 il s 55 LI s gl godge T

kb Y
Col plAS — o 0018 JUl & 5 25Nas olST ity FkHZ
S

Y (f Ala VP (Y A QO

fewwl Peer- to- Peer asii Jow pagio 3590 plas

lod Joe SEIVET & jgody ladd wilyl o a5l 1o JTanalS jo ()

Sl e Jos client o goa a5l (o o SoalS s 5 SETVET pannls SO (Y

sl Jor SETVET & jg0as i o ClIENE & jg0as v wilsl o aSlils Jo SanalS o (¥

iole oo o SEIVET &jgots ot Sy g ClIENL & gty 4500 )5 b SgmnalS 51 5y (F

039 o0 0ol Az Ay Y o 0010 azlg LOSI Juw o

Datagram (f segment (v frame (v message (\

19 6151 alaii o aF alaii PX10® ol ) pglal 1 clacsams ygods 1y Bub 1 gal o Sosiy] ailol Sy
Sladie ST wleige Jloyl ol 4l 53 ppal YO £y b (Gl Ky I pgal) (ilidy; g
o] 35,0150 sz gl al Jloyl sly2 Joed BB Wil st Jilas sty SNR =Y odB

vf Yy (Y Ve (N

Pl o0 yaS wmyloi oo ooliiwl bit stuffing u—sp— ¥ I &5 i S )0 WS o9
¢! syl 0015 ol i 35 oluS sl 03505 bl 3 15 031111Y 000110111110 01111110
coyyoyYyoocool (¥ CEARCARRRRNE

EEARERRRR ARG i colycool}y (Y

ool il col 1Yo ply MTU jlade 51008 00 <dlpn 1) cul ¥Fo Job d (slodls asumy (il pmuce
TS (o0 (g hamamdl axlad wizr 411 a0l ol oo

V(f Yy ¥ A

_10A

_1‘&

|

-M

-y

-1y

-1¥¥

-W&

-\#



YY amii 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

wado & gl glp gan 8 ol pj b 4 CIDR oUlg b Gl o5 50 (lymwe Joazr -1V
Tl plaS 125, 4F, YV, 1D

NET MASK NEXT HOP
145,35 ,0,0 | Y08,YFo,0,0 A
$¥,0,0,0 14Y,0,0,0 B
Va8 ,A0,0,0 | Y88,YFo,0,0 C
Y45 ,Y0¥F,0,0 | YAB,Y8A,0,0 D

D f C B (v AQ
IS ldms Sopamm g JUE! ST b (55 mpols sloaSnds 50 Sl Co pie lap 3ilSu (pgpas )0 -N1A
] s y0L 5 590
o3l J555 ()
o (2 50l 65 (2l yomn (F
by ganplej 9 e Sy pae (¥
0,35 (050l STz jshaieds Zudgusme b (ol e (F
Tl Cano 30U 0590 plas TEEE Ao ¥, 1Y o luilinl (pguasyo 114
a5 oo oolazwl ack 51 Full duplex sla 5590 (sl bosls wg Y ()
Bgd oo eolitul Sli 1o, 5 (5,105 5, 5l Laools aign aY o0 (V
g oa5 soliw! Full duplex o jgea (o5 glas) JUIS 51 (¢
D, 3gzrg Lo 18 polal  Jloial laools Way JSTg, )0 (F
feww! (Network layer) asiuls 4 Gully 319,90 plus JOSI Jow j0 1Y

Oiadzoll I jgusdy odiiin )8 45 00ls Lgad g (T Criadaali gy 00555 a4y 00ld Lgsd g e ()

Crodne O jgeody ouiis )8 45 00l g gy (F el O jaody 0855 4 00ls Lgmd g e (V
£ juf o0 318 00laiwl O 550 peimmmne P15 85510 AL (g loas aF g laaslll Jladl gl -IT)
Gateway (f Bridge (¢ Router (v Repeater (A

by S 4Ll At (tl 4y K40 FperelS ¥ anlasiy 1o ol S5 5 b geselS Yo b glased —IYY
Tpslo 5l ySyo link
VFo (f 1Y (¥ V4o (Y ¥o) ()

4 d9b Jluy)) CRC slas 5 b G(X) = X5+ X 41 wWao 3l ooliswl b 11010 N oLy cowl 45 8 —AYY
Togab o0 adldf aiy 35 plos Jlwyl ply
oYV (F Yoo (¥ coYo (Y oyoy ()

ool ot Yooo Jab & a8 Jluyl gly Yoo KPS Jluy #5 & IDLE ARQ JSigy il (glocicias 3 —1Y¥

m
qm::bmb).msl..f.&q“]blfdsbm‘,é Bo t_g)go).@omu{_g!)g‘m‘.g TX‘OA— M)E)L&.u‘t..ssﬂ)ﬂd.\fsn
S

yooo (F Yoo (Y Yo (Y V()



YF axio 529E (VA5 08) Jy5a8 5 pouiile b  cuwigee

F o goww) 6l ) b e dyiansls (b yome o 5350 51 ooliiwl b A o oo TCP/IP asiils 5 0 VY0
0,10 (gl 38 4z o (52 yioligS.udd o0 ploxil

Y ()

K

AEAY

¥ (f

ERIARTAY 7

&‘.33)‘5.: )Lfd.g ‘_g)bﬁ 6Lm.>1a L ‘E_QLQJJSS‘, Bl ‘51).3 3 ‘nLLf SQL UL’J BT -\ry

Remove (f Distinct ¢v Drop (¥ Topn (A

69y Joe plaS b Jobro alyly, AcoB oK1 (il LSS o LA 9 B dll, 90 (Heading) yfeise 4cgomo )51 1YY
fags ualaz A g B slaakl,
oy (F Jalis (¥ glosxl (Y Sl ()
Sl ) gladaily o pagio yKile o390 plas” —1TA
©ivesivA city= ‘olyd (stud)
S5l YL @ VY Jaee g aitiansd ol 8 aie a5 Shgsedils ()
WYL 4 VY Jase g s ol 45 Wate 4S5 Shigseasls (Y
Sl YU 4 VY Jase g sl olpe5 Wgtie a5 Slgzmasle (¥
e YL @ VY Jome g wiius )l 105 wleie a5 Slgsuiils (F
wj3ladl oy 39) Joli g 095 Wlahad as bgs o aF P Jledbol STL 50 ) Ol jatiwd Acsutmo (o guas ;0 3500 plus —1T4

] oy bl oo (Aadad 05 (ST
UPDATE P

SET COLOR ="Blu¢’
WHERE COLOR =Green’

""')3—1\50)'3 j.._.u ‘j-;) LE] |) L-gl] Ciladad 191.4.1 (Y 'JJBT\FO)J L_;l_‘ Lj.;J LY bj.:...u | P Y rDLAJ (\
Ccual )90 o105 TMgpame (student)—TI, 0 (professor) slakuly yor pggie —1Y-

65l Lozl olol a8 JSligeeasls ol (Y

At 3l alias a5 Shaseasls ol (Y

5l Lasaly oliwl a5 Sbigmasls ob (F



YO amiu 529E (V45 08) Jy8 5 pouile b  pawnigeo

Caw! 2las (ool a5 L « it ErsONns» ,aiwd azsd —\YY
@ ¥ U 59y » «SELECT DISTINCT City FROM P g AT

City Address Firstame LastName P_id
Sandnes Timoteivn 10 Ola Hansen 1
Sandnes Borgvn 23 Tove Svendson 2

Stavanger Storgt20 Kari Pettersen 3
Sandnes, Stavanger (Y Hansen, Sandnes ¢
Hansen, Pettersen (f Svendson,Tove ¢t
Flaw! Somly £ 9 a3l ol sl sy « BCNF» Jbo i o8 50 —1YY
gl e ay 205 0l5 4 O
Jals” s (8 & e Wiz ol (¥
€5 s 1 « NULL» Sfdio ilgf oad 15 0S5 Sy plas —AT¥
composition key (¥ Hash key (\
gz S5 (¥ PESHERW R4y

ToiS oo cmond [y S leMbl SOL Cone g Comolr 3550 plas —1YF
Sgd oo plal 1 (59 sme Bldes g oud 3T 155l a5l Sledlal SGL ()
imd o bl Sledbsl SOL (55, jloee Dlles jloxe ol 81 (Y
s oo plnil Sllas  SleMbsl SGL (65 jlaxe of 31 (Y
Sy o plol Sledlol Gl (g3 slme llas lads (F

foaw! plas alols aos  S5g38 mals b Lasolo oL S j0 -0
b o iali8l Wosls ol (5,55l Jlaizl 13 5 0,10 0525 (6 5eS aslins sals ()
b o halS Wesls pl (6,550l Jlasal 1A g 0 )ls 0e25 (5 inn ailics sols (V
b go aalS aosls il (6,55l Jlaxal 130 5 5 1o 3a2g (55 aslive ol (V
ol o Gl aools pl (6 5Ll Jlazal 130 g 5 )1s 8955 (g yiden aslis oo (F



S 3 il 315 90 3T (s Sl &g S yamd

Y5 amio 529E (V45 08) Jy8 5 pouile b  pawnigeo




S 3 il 315 90 3T (s Sl &g S yamd

YV amin 529E (V45 08) Jy8 5 pouile b  pawnigeo




S 3 il 315 90 3T (s Sl &g S yamd

YA amino 529E (V45 08) Jy8 5 pouile b  pawnigeo




